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Why Did the Cow Keep Jumping Over the Barrel?:

Translate each phrase below into an algebraic expression and find your answer in the corresponding answer ooEB:
Write the letter of that exercise in the box that contains the number of the answer. i

| ok @ 5 times a number, increased by 8 . ® 8(x +5)
3 times a numb . X+3 .
@ iES R Imaar . @ @ 5 times the sum of a number and 8 @ 8(2x + 5)
3 th b 3x—8 }
0 fmore than a number @ @ 5 more than 8 times a number : @ 8x+5
3d db X — , .
@ ecreased by a number : @ 3 @ 8 times the sum of a number and 5 . @ 2(5x + 8)
3 less tha umb 3x+8 -
@ ess nan er @ @ twice the sum of 5 times a number @ 5x+8
@ one third of a number @ "3 and 8 3
. @ 5(x + 8)
@ 8 more than 3 times a number @ 3—-X @ 2 Bﬂm el ive wighihsdta g
; number .
) =X+2
@ 8 less than 3 times a number .4 @ 8 times the sum of twice a number @ 8
3 and 5 1
@ 7 1888 than 4 Bimesa narber @ 7 — Ax @ 9 meters higher than altitude x @ x+15-
@ 7 decreased by 4 times a number (16) 2x—-9 | @ Mw Bﬁwﬂmqw per second slower than @ X+9
ee
; : 4x -9
@ 9 less than twice a number . x+4 @ '15°C hotter than temperature x m
: _ 2x —9
@ 9 decreased by twice a number @ x—7 @ 9 meters shorter than twice length x - 6 .
2X +
@ 9 less than half a number . 7x + 4x @ 9 years older than twice age x
@ 7 times a number, increased by 4 . 9-2x | @ $9 cheaper than 4 times price x @ X—19
@ 7 times a number, increased by 4 X . 3 -
times the number 2 @ mummmmﬁwﬁ_wwm@_ﬂﬂmm than thres @ ax—9
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